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= 65,477
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01 Ak 22l 69,000 19,000 50,000
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ostE BRI 2 10,000
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= 40,581,000
[ 5,410,600
OBH& HaHOIE (S RX) 250,000
SHE M= (2D) 4,522,431 0 4,522,431
= 4,522,431
403 XX CHH S AH= 0| & 4,522,431 0 4,522,431
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= 22,011,000
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OMEHBIE =4 22,011,000
= 22,011,000
ST EAE Y 291,400 291,400 0
= 250,000
[ 41,400
S @2 sotEX 14,400 14,400 0
201 LEr2 A 5,600 5,600 0
01 AF2 22l 5,600 5,600 0
OZUHg Sotohz 5,600
202 04 Hl 8,800 8,800 0
01 ZLHOIHI 8,800 8,800 0
OTLHEY SOt LT 8,800
ALZol ¢ =Y HH(ZD) 277,000 277,000 0
= 250,000
[ 27,000
403 THXI SHAMI S Xt 0l & 277,000 277,000 0
= 250,000
< 27,000
01 RXISHH X =22 = 277,000 277,000 0
OSHErLE FBIXA H 277,000
= 250,000
[ 27,000
HH2EZHI (L) 239,667 279,611 £39,944
ol 2| 156,326 193,272 36,946
22 QA X 156,326 193,272 36,946
101 Q1214 156,326 193,272 36,946
01 22 156,326 145,189 11,137
O ST tararal) 62,530
OAIZI2I 2245 8,943 +70AI 2H+6Z « 128 45,073
oorz2eay 2,981 *BA| 2+ +366L 17,457
FH(USYABLZEH L) 93,796
OAIIA2 24 8,043 x70AI 2H+9% » 128 67,610
oor2esy 2,981 *8A| 2Hx3 »366 26,186
Jl2AY| 83,341 86,339 A2,998
2MH29 J=2H| 83,341 86,339 A2,998
201 LEFR A 64,045 66,275 A2,230
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01 AL 2l 62,545 60,985 1,560
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02 2B 1,500 5,290 A3,790
ORA2Y BE2YH| 1,500
202 04| 19,296 20,064 768
01 2LHO1H 19,296 20,064 A 768
SNSY 2O 19,296
WEEESOEED ) 5,212,217 5,132, 164 80,053
VESIE 3,924,067 3,742,766 181,301
TH o CH 5] 2 5 3,924,067 3,742,766 181,301
702012 HE2 3,924,067 3,742,766 181,301
01 JI2HE2 3,924,067 3,742,766 181,301
o222 3,924,067
ERSDNES 1,288, 150 1,389,398 ~101,248
51 XH oH ol 2 945, 152 940,000 5,152
311 XHAUBOIXHar e 945, 152 940,000 5,152
06 J1EFXHRI 0| XAt & 945,152 940,000 5,152
©'095H & T BH 0l L (B2 R 2) 487,658
O 105t AT aH 0l 2 (BB R 2) 457,494
THoH I8 X 2=l 342,998 449,398 106,400
311 XS0 XHAL S 342,998 449,398 106,400
01 Al - SXISHL ISR S0I KAt 160,000 267,398 ~107,398
©'09THaH P & K AR I (K= IHLIIB) 160,000
06 JIEHXHRI 20l Xt At & 182,998 182,000 998
O 10MHIIB AR (BZIIB) 182,998




